
Skæringspunkt mellem cirkel med centrum i Origo og parablen 𝑓(𝑥) = 𝑥2 

𝑥2 + 𝑦2 = 𝑟2 

𝑦 = 𝑥2 

Fører til  

𝑥2 + (𝑥2)2 = 𝑟2 

𝑥2 + 𝑥4 = 𝑟2 

 

𝑥2 + 𝑦2 = 𝑟2 

𝑦 = 𝑎𝑥2 

Fører til  

𝑥2 + (𝑎𝑥2)2 = 𝑟2 

𝑥2 + 𝑎2𝑥4 = 𝑟2 

𝑥2 + 𝑎2𝑥4 − 𝑟2 = 0 

𝑎2𝑥4 + 𝑥2 − 𝑟2 = 0 

𝑎2𝑧2 + 𝑧 − 𝑟2 = 0 

𝑑 = 12 − 4𝑎2(−𝑟2) = 4𝑎2𝑟2 + 1 

𝑧 =
−1 ± √4𝑎2𝑟2 + 1
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𝑥 = ±√√4𝑎2𝑟2 + 1
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−1 + √4𝑎2𝑟2 + 1
2

2𝑎2
= 𝑛2 ⟺ 2𝑎2𝑛2 + 1 = √4𝑎2𝑟2 + 1
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(2𝑎2𝑛2 + 1)2 = 4𝑎2𝑟2 + 1 ⟺ 𝑟 =
(2𝑎2𝑛2 + 1)2 − 1

4𝑎2
= 𝑟2 
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4𝑎2

2

= √
4𝑎4𝑛4 + 4𝑎2𝑛2

4𝑎2

2

= |𝑛|√𝑎2𝑛2 + 1
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𝑥² −  6𝑥 +  16 Skæring med  𝑥2 +  𝑦2 −  6𝑥 −  14𝑦 −  214 =  0, 𝑥² +  𝑦² −  6𝑥 −  14𝑦 −  592 =  0 

 

Heine Strømdahl 2023.  

 

 

 

 

 

 


